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PART—I / SI9%—I
CHILD DEVELOPMENT AND PEDAGOGY / e Rari ¢ frse-odt

Directions : Answer the following questions | Az : 3 Tag foioa ca Aewa erysfer Teq

by selecting the correct option : e :
1. Development continues upto 1. Fm sEfie =
(A) adolescence (A) (TR o3
(B) adulthood (B) oNeTEFFE °f(3
(C) death (©) T (3
(D) None of the above (D) TR (@R W

2. The intensity of children’s emotion is 2. PreTE SIEeR Sl

(A) high and long-lasting (A) T g3z W@
(B) iow and long-lasting (B) T§ 9 Tz
(C) high and momentary (C) % @2 e
(D) None of the above (D) ®oREd DR T

3. The word ‘adolescence’ comes from
th: Latin word 3. ‘Adolescence’ *Rifb QTR TN *I%

(A) Adolescent (A) Adolescent (U(®

(B) Adolescea (B) Adolescea (4(&®

(C) Adolescere (C) Adolescere (A&

(D) None of the above (D) ToFa (FF2 =¥

II/4-A
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4. Wechsler Adult Intelligence Scale

is a

(A) non-verbal test
(lé) verbal test

(C) performance test
(D) None of the above

. The formula for measuring IQ is

MA
e
(A) 5 x100

CA
B) —x100
B M
cA
MA
(D) None of the above

(€

6. According to Piaget, the fourth stage

of cognitive development is

(A) the period of sensory-motor
thinking

(B) preconceptual stage

(C) the period of concrete operation

(D) None of the above

Children begin to acquire gender
stereotypes in

(A) early childhood
(B) puberty

(C) adolescence

(D) None of the above

Which of the following is not a
strategy used in ‘reciprocal
teaching’?

(A) Questioning

(B) Summarizing

(C) Evaluating

(D) None of the above

II/4-A

4.

8.

(SHTR- 9 T T 3 O
(A) SHRYE W

(B) wifefes wormw

(C) >Tomat S

(D) Toeam @R W

T “fRECeR jaf 2
MA

A== x
()CAXOO

CA
=4 100
Bl 3z

cA
MA

(D) ToER @R T

(€)

PrICE WCe s fRem ved @l
=

(A) R 8 AT IR B
(B) 2ARE-4IRATAS B
(C) IR >FToR W
(D) TR (PR T

PreTT ot SiegrEre 4R S@ere 21
(A) A AETHICE

(B) FwAHFICA

(C) oA

(D) TR @A T

“NfRe Rofed®@ frer’ Soon @
(FPED TaZe = A 2

(A) fermpiRm

(B) FrrREReRR

(C) TR

(D) R @6

[ PT.0O.
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9. The nativist perspective of language 9. N RIFCR Nativist TR 2@ 2
development was proposed by

@) J. B. Wat (A) J. B. Watson
. B. Watson
(B) McWhinney
(B) McWhinney
(C) Noam Chomsky

(C) Noam Chomsky
(D) AT (IS

(D) None of them

10. WY e e [ (WE Wen

10. The basic principle of modern ) SOTE
education, ‘From Whole to Part’ is i sfce
built upon (A) BN %oﬁ

(A) behaviourism (B) NISRIHA T

(B) gestaltism ©) 2 o

(C) connectionism

(D) TR PR T
(D) None of the above
11. GReIf-21 o1 Iw
11. Trisomy-21 is seen in
(A) IS Brcg
(A) Down syndrome .
B) rf P
(B) Turner syndrome B)
(C) Klinefelter syndrome (C) RIRFCFT PrCE
(D) None of the above : (D) TR (IR T
12, Dyslexia is a form of 12. TOERBR 29 9% 490
(A) mental retardation (A) PR afeTmeel
(B) autism (B) SRIFEHTS!
(C) learning disability (C) Prem srFTe!
(D) None of the above (D) TR @AbE T8

13. Creativity and intelligence are ‘ .
ool 13. S{EwmeTel @38 IR TLRTSIE

(A) feamTea F=oifde

(A) negatively correlated

(B) not correlated (B) Teifs 7

(C) correlated ©) Tifks

(D) None of the above (D) Bo -
I1/4-A i
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14. The ‘investment theory’ of creativity

15.

16.

was proposed by

" (A) Ausubel

(B) Sternberg and Lubert

(C) Cattell and Drevdahl

(D) None of them

For identification of gifted children,
we should not use

(A) test for measuring SQ

(B) test for measuring IQ

(C) test for measuring personality

(D) None of the above

Children may adopt teachers
positive or negative views and start
to live upto them. This is called

" (A) educational self-fulfilling

prophecies

(B) isolation prophecies

(C) interaction prophecies

(D) None of the above

II/4-A

14,

15.

16.

SpEmeTeR ‘Rt ©g’fba ek 2em
(A) Ausubel

(B) Sternberg €32 Lubert

(C) Cattell €% Drevdahl

(D) TOCRA (I

AL (it ﬁ“@m fofEeenm &

A @ 4R WO IR FA AL, O
b _

(A) SQ “fFTrom S
(B) 1Q ~IfRsIof Sreri
(C) ez “fAmem wor

(D) Toicaa @bE 7w

Pro Freeom  omdE @ @RS
TRefRe wNE I (R 9k @2 e

fcER dnce A | W A
(&) Presre g-+(fiems sRRE
(B) Rifvesee st

(C) f=fEmn orad

(D) TR FADR T
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17.

18-

19.

A school may accommodate a
student with visual impairment by
providing of large print textbook.
This method is called

(A) isolation accommodation
(B) presentation accommodation
(C)

inclusion accommodation

(D) None of the above

Students with poor fine motor skills
should not be taught using the

(A) block letter
(B) typed letter
(C) cursive letter

(D) None of the above

The student, who have an IQ of 98,
is an intellectually poor student. The
statement is

17. @W RwER o . e STerrTem

firgq PP &0 AT ZACE WA A1
R-9q AT IACO AT | @2 “@fece I
el

(A) TRferaeree TR

(B) oMY FoRTRYE

(C) TFSfeTme FrmRa
(D) TaR (@R T
18. PH (oF® RN THA  FASPTOH

19.

RRYTTE (P Y IR @ A I
Tfoe T2 '

(A) oDl S

(B) Ti2el 91 W

(C) T @Ym feife ey
(D) Toa (@0 W

@ IR J@® 98, O T2 |
2 Tfef

(A) right ()

(B) partially true (B) SPE 3T

(C) wrong (C) ™

(D) None of the above (D) TR (FIOR T
II/4-A 6
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20.

21.

22.

23.

II/4-A

Which of the following methods is
not used as a method to measure
the influence of heredity on
learning?

(A) Twin study

(B) Study of adoptees

(C) Free association

(D) None of the above

The operant conditioning theory of
learning was proposed by

(A) Pavlov
(B) Skinner
(C) Thorndike

(D) None of them

Social learning theory integrated the

(A) behavioural and humanistic
theory

(B) behavioural and cognitive
theory

(C) humanistic and psychoanalytic
theory

(D) None of the above

Who has not given any trait theory
of personality?

(A) Kretschmer
(B) Cattell
(C) Allport

(D) None of them

20.

21.

22.

23.

e @ el frrm iR aem
AR *fafS B Ime = w12

(A) T ST=oAfFS wyEe
(B) T@F A=AAfFS Sy
(€ T= o

(D) TCRA (IR T

PRER weers SRR v eRw
T

(A) “TTeTS
(B) =
(C) wUfoizz

(D) ¥z@ @T

e Frcm wefh ga@iFaa Feace
(A) BRI @ TRORITH TGP
(B) SR S BT TGF

(C) TFRSRM & FAHANFRM TGF
(D) TR FADE T

@ ISTR @A AT TG Tomifre

[ P.T.O.
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24. Meaningful perception of material is

25.

26.

essential component of learning.
This is a concept of

(A) gestaltism

(B) behaviourism

(C) connectionism

(D) None of the above

Which of the following is not a
primary emotion?

(A) Fear

(B) Anger

(C) Hope

(D) None of the above

Symbol and sign are the necessary
elements of which of the following
process?

(A) Thought process

(B) Sensory process

(C) Perceptual process

(D) None of the above

II/4-A

24.

25.

26.

Ry W  eored P w0
TGN GF TAME | @ 4R (e
P

(A) TSR
(B) SITBAHTT
(C) FICATERm

(D) TotRA @02 T

e @b (e wmeas 2
(A) =

(B) (&Y

(C) =™

(D) Tefcaa (bR =T

(A) foum e

(B) G 2ifera

(C) erera e

(D) TorER @MiE T
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a7,

28.

29.

The concept of achievement
motivation was propounded by

(A) Stout
(B) Bandura
(C) McClelland

(D) None of them

Personality was divided into
extrovert and introvert by the
renowned psychologist

(A) Freud

(B) Jung

(C) Adler

(D) None of them

Thematic apperception test is a
(A) performance test

(B) projective test

(C) personality inventory

(D) None of the above

30. The amount of learning material

revived by a student, immediately
after only one presentation of
material is his or her

(A) capacity of memorization

(B) impersonal memory

(C) span of memory

(D) None of the above

II/4-A

27. -

(emfeeeTs  ifbree)
oS qRae 7w 3

(A) IOITH
(B) I
(C) TFaeme

(D) TR (FT 7

28. IeTare RPN R WA BT Rew

29.

30.

AT 2A4TS AR
(A) FE©

(B) e

(C) =eeTR

(D) Tocam @ T

Thematic apperception test Z& 3B
(A) ST SO

(B) afSwer s

(C) wfesTar “Afiwom TesR

(D) ToCaq (FMbE T

P R om W@ Soreiem om
et e PRt qeb e IS I,
2 O

(A) ~gfex el

(B) CTfes =f

(C) ~4fex 2P

(D) TR (PR
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PART—II : Language—I

ENGLISH

Direction Read the passage given
below and answer the questions (Q. Nos.
31 to 35) that follow by selecting the correct
options.

There lived in a certain town of Persia two
painters whose fame had spread far and
wide. Both of them were so good at their
work that it was difficult to say who was
better. So it was settled that each painter
would draw a picture and there would be
judges to decide who had done better. One
of the painters painted a bunch of grapes
which looked so natural that the birds
came and pecked at it. The judges were
struck with wonder and felt he would
surely win the competition. When they
went to see what the other painter had
done, they found him pointing at a screen
that was in front of them. The rival painter
thought that the picture was behind the
screen and went forward to see it. He was
greatly surprised to find that there was no
screen, but only a picture on the wall. The
judges were speechless with wonder and
adjudged the second painter better as his
picture could deceive a man while that of
his rival had deceived only the birds.

31. The first painter’s picture deceived
(A) the judges
(B) the rival painter
(C) the birds
(D) None of the above

II/4-A

https://www.freshersnow.com/previous-year-question-papers/

32.

33.

34.

35.

The second
deceived

picture

painter’s

(A) the birds
(B) the rival painter
(C) the animals

(D) None of the above

How do you classify the given text?
(A) A report .

(B) A biography

(C) A story

(D) None of the above

‘Rival’ means
(A) opponent
(B) surprise
(C) judge

(D) None of the above

‘Pecked’ means
(A) strike with beak
(B) surprised
(C) struck with .wonder

None of the above

(D)




- Direction : Read the poem given below and 38. ‘Availeth’ means
answer the questions (Q. Nos. 36 to 40)

that follow by selecting the correct options.

A) is of hel
Say not, the struggle naught availeth, W) A8l o 30 Use or belp

The labour and the wounds are vain,
The enemy faints not, nor faileth, (B) is of use or help
And as things have been they

remain. )
(C) without value

If hopes were dupes, fears may be liars;
It may be, in yon smoke concealed, | .
Your comrades chase e’en now the fliers, (D) None of the above
And, but for you, possess the field.

For while the tired waves, vainly breaking
Seem here no painful inch to gain,
Far back through creeks and inlets making, | 39- ‘Dupes’ means

Comes silent, flooding in, the main.
And not by eastern windows only, (A) close companions
When daylight comes, comes in
the light,
In front the sun climbs slow, how slowly,
But westward, look, the land
is bright. (C) persons who are cheated

(B) strangers

98- “The poet nrges (D) persons who are defeated

(A) to take a pessimistic view on the
ground that our labour and pain
come to nothing

(B) to take a pessimistic view on the 40. The theme of the poem is
ground that things will remain

the same
(C) to continue struggle in the face (A) our .labour and pain come to
of resistance and suffering nothing

(D) None of the above

(B) things will remain the same
37. The poem is a/an

(A) sonnet (C) hope and success follow when
(B) ode the struggle is continued
(C) lyric
(D) elegy (D) None of the above
I1/4-A 11 [ P.T.O.
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Directions : (Q. Nos. 41 to 48) Fill in the
blanks with correct alternative from among
the given options in each of the following.

41. The

drug trafficker has been
sentenced to death by the high
court. He will be — in December.

(A) hang
(B) hung
(C) hanged

(D) None of the above

42, What are you doing —— coming
Sunday?
(A) from
(B) on
(C) in
(D) None of the above
43. I — in a first-class hotel. It’s too
expensive for me.
(A) ’'m going to sleep
(B) sleep
(C) 've never slept
(D) am sleeping
44, Unfortunately, I haven't got ——
time for watching TV.
(A) few
(B) no
(C) much
(D) little
I1/4-A
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45.

46.

47.

48.

Could you turn —— the TV? The
soap opera is about to start.

(A) back
(B) on
(C) off

(D) out

—— at very high speed is extremely
dangerous.

(A) Cars driven

(B) Drive cars

(C) Cars driving

(D) Driving cars

When he was young, he swim
very well. He won medals and
championships.

(A) had to

(B) can

(C) could

(D) None of the above

No other boy is as —— as James.
(A) tallest
(B) taller

(C) tall

(D) None of the above




49. A group of letters is given below
which are numbered 1, 2, 3, 4, 5
and 6. Four alternatives containing
combinations of these numbers are
given. Select that combination of
numbers so that letters arranged
accordingly form a meaningful
word :

CELSMU:1,2 83,4,5,6
(A) 4,6,3,5,2,1
(B) 5,6,4,1, 3, 2
iC) 4.6,85,2.3 1
(D) 5,2,3,1, 6, 4

50. Choose the right alternative of—

A person who sacrifices his life
for a cause

(A) Patriot

(B) Martyr

(C) Revolutionary

(D) Angst

S51. Choose the correct option from the
given alternatives for the stressed
syllable in the following word :

demonstration
(A) “de-mon-stra-tion
(B) de-"mon-stra-tion
(C) de-mon-"stra-tion
(D) de-mon-stra-"tion
II/4-A 13

52.

53.

54.

A disyllabic word with a weak prefix
has the accent on '

(A) the prefix
(B) the suffix
(C) the root

(D) None of the above

What is nucleus in a tone group?

(A) The least important syllable in a
tone group

(B) A structure word in a tone
group

(C) The most prominent syllable in
a tone group

(D) None of the above

The intonation of question-tags is
often quoted as a case of a difference
in meaning being falling and rising
tone. Thus the question tag ‘aren’t
they’ in “They are coming on
Tuesday, aren’t they” means

(A) the speaker is comparatively
certain that the information is
correct

(B) the speaker is not certain that
the information is correct

(C) Both of the above are correct
(D) None of the above is correct

[ P.T.O.
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55. Fluency in the use of language 58. The order advocated for learning the

requires language skills is
(A) knowledge of grammar (A) writing, reading, speaking,
listening

(B) knowledge of phonology (B) reading, writing, listening,

speaking
(C) skills of communication
(C) listening, speaking, reading,
(D) All of the above WEAnE

(D) speaking, listening, reading,

writing
56. Phonological knowledge includes
(A) correct pronunciation 59. What does teaching of ' prose
include?
(B) stress (A) Novel
(C) intonation (B) Composition
(D) All of the above (C) Story

(D) All of the above

57. What is meant by comprehension of

a text?
60. Which of the following combinations
is found in the ‘statement-sentence’
(A) Deciphering sounds and the of English language?
scripts

(A) Subject-verb-object
(B) Decoding the text to extract

meaning (B) Subject-object-verb
(C) Both of the above (C) Verb-object-subject
(D) None of the above (D) Object-verb-subject

I1/4-A
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Foifr « FaRRe “mehE te 61 |- (WF | 63. ‘CHITI O’ —a7 TPRF T
65 T2 TR Teq We |
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Ik
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i, (B) iR I1®l (T (BRI AT
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FACE NG AR
(A) IR
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(B) Jecs =& IvN
(C) SF 7 )
(C) &Ce (& 3PN
(D) | A

(D) qe= Gea =& AP

62. ‘T @S FMHI Tl T4 P P ——

(A) IRA A IR ST (A) TR "
(B) TR=™ (B) ¥ s
(C) = O (C) T s
(D) FReR =™l (D) 3F=1 M=
II/4-A 15 [ P.T.O.
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firire . PaRRe smiely TE 66 R (WP
70 T ATA THI WS |

‘oo, TR FEAAl Sl Tk W
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ReRTeTR | OUH TS TII T PEOA AHHS
2, e gwAf ST FECSR | O,
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w2 of¥rs oqe 22 17

66. oEAR wE® o T TERR
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@A) Bz
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W eglen Fge SR W’ IR
TR IR, @ R et A 2

67.

(A) T3 IACE N el
(B) T2 FRCE 0 Refe

(€) e IS 0 Refe

69.

(D) TR RICADR
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(D) ToRF IR T
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(C) T ] B3 oo wier 5
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(C) Tt *
(D) SF S =i 78. T SR T FCACR

(A) T TeEP SRR (WD

. oo T
i il (B) CTRCHN So[E SA2L0 (AF

::) fﬁ (C) TY-ToA TG RZRD (WD

(C) T (D) TS Sper@s S1aRGe (AT

(D) e 79. “ciRAIa SR-o1R qm 1’ @ AR
74, ‘48— | “SfR-o1R’ @ ICT W8S 2

(A) SO *F (A) T Y

(B) T * (B) T FHRm

(C) o8 1% : (C) Ngorena FAY

(D) S-S =3 (D) TP I

75. WWR, CSEPR’, CSEReAT @R | oo ‘Rz 395" —gq IoS] 2
o] TLHIITSITA (I 4R *R1 2 '

@A) Ree (A) SEPTES ICTOY
() C (B) Rgfoga Icmengm
(C) =8I *I= (C) W= ITTmene™
(D) S *F (D) = arcEHeIGRE
II1/4-A 17 - : [P0
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81.

82.

83.

84.

Tfte TEgE SRCOPT @2 WEICH
HOICE S IS 2

(A) TP TS

(B) A®I6HT SCHINGE
(C) *ryavm RrieE

(D) *ME HCOIIIR

TR NP 4l G0
(A) IR0
(B) «GF
(C) b
(D) @™

A’ sl wice

(A) NPT T

(B) afTocEd Regs’-9
(C) *R<BrE ‘HI1s’-9
(D) TR FTEFAAI O
% +<fEHy Fofe

(A) 718 STR

(B) &R W

(C) TP 78
(D) T&@Fel TN

=’ P fecfeceE
(A) STETER A
(B) Tacerwee Im

(C) T ™
(D) et T

II/4-A

18

86

87.

88.

89.

90.

. TR el AR —dE I N
Ferrel I’ F@ce A0 3@

(A) =95

(B) W=

(C) WmS TS LA, SITS TS A
(D) o (MR 78

(A) =g

(B) frme=

(C) WY-7=oRI I&

(D) Toaa (PR T

e Prem ovea PR @ omfs
ST PR O 27

(A) SRR *afe

(B) R smafe

(C) AR *Fafe

(D) TRAY AT &S

oaR Pree o Prefin g SR
SCNGTR T Soff 6 A 2

A) Predice wRfe ¢ #fe v @ ¢
FYCAR, I 11

(B) ST SR LA TR (WA (CIA

(C) IFAR FM @ IE TR AT
e :

(D) TS =fefecTa T 8%

R’ = shre AT ‘T W,
RITSIE 7a 2

(A) =ffaRfe

(B) wifexrf®

(C) RHrFASN

(D) nfrgacen=
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Candidates have to answer Question
Nos. 91 to 150 Either from Part—IV
(Mathematics and Science) Or from
Part—V (Social Studies).

AAFITTE 2 RN 91 (AT 150 T F40S @
o1V (dffe 92 REM) (F 9977 S16-V
(TSR (U |

PART—IV / Si9—IV
MATHEMATICS AND SCIENCE / +f9s @3t @

Directions : Answer the following questions | fAzif¥er : 0% Tex fAdea 2 Mva amefr
by selecting the correct option. Teq e |
91. The diffel_'cnce between the two 91. ,im SR W N 47-364. T 2D
numbers is 47-364. If the smaller S 31-855 =W, B74 IT FRAM 23
number is 31-855, then the bigger g : R
number is (A) 15509  (B) 79119
(A) 15-509 (B) 79:119 (C) 79219 (D) 79-129
(C) 79219 (D) 79-129 92. 100 €32 1000-97 TGS @ (FICA Y
92. If the sum of the digits of any (AT TRANMA THSCAR WS Res s
number lying between 100 and 1000 Reaereer s @ Sl 7| o 23 @
is subtracted from the number, the £
difference is always divisible by A) 9
(A) 9 B) 12
(B) 12 ©) 6
(C) 6
D) Tt (TR
(D) None of the above () -
93. The number of prime numbers less %, 5? WC"[:!ﬂ qaon RGIGL R0y ¢ e
tha.n 50 iS 7!\"”@ W\an m
(A) 13 (B) 14 (A) 13 (B) 14
(©) 15 (D) 16 (€) 15 (D) 16
94. If x%x x? x x¢ =1, then the value of | 94. T  x%x Xxxt=1 =W =@
ad+b3+c3 is  ad+bp+t @AM TR
(A) O (A) O
(B) a+b+c (B) a+b+c
(C) abe (C) abe
(D) 3abc (D) 3abc
SPACE FOR ROUGH WORK / ¥ (&I G« M
II/4-A 19 [ P.T.O.
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Y -2
-1 2 0 -1 2 0
1 2 3 1 2 3
. = 2] -|= =? = T = e =?
A [(2) (3] 3 ] = [(2) ERt ]
16 81 16 81
B Bl —— A) — 1) =
()81 ()169 ()81 (}169
169 9 169 9
C) — B} == — —
© 33 D) 3 = B =
96. A c'ertain numb.er of men could do 96. ﬁ;i T I FE 60 T = I
a piece of work in 60 c?ays. Ifléhe;e A | AM 8 T @I @M AT O
METE, 5 JRore. T, e poRee. 06 PTG oo A0S 10 ot T TN IS |
finished in 10 days less. The number WS -
of men in the beginning were TS PR
(C) 40 (D) 35 (C) 40 (D) 35
97. The consecutive two discounts of | 97. “R°R 7o TE 10% &R 20%- ey
10% and 20% same as single GFF BC 31
discount of
(A) 32% (B) 30%
(A) 32% (B) 30%
(C) 28% (D) 40%
(C) 28% (D) 40%
98. :b=4:59R b:c=6:7 Sl
98. If a:b=4:5 and b:c=6:7, then . i -
- . a:b:cTW
a:b:cis
(A) 24:30:35 (A) 24:30:35.
(B) 26:30:35 (B) 26:30:35
(C) 5:6:7 () 5:0:7
(D) 4:5:6 (D) 4:5:6
SPACE FOR ROUGH WORK / % JINEA & |EAl
I1/4-A 20
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99.

100.

101.

102.

What sum of money will amount to
¥416 in 1 year 4 months at 3% per
annum simple interest?

(A) €395 (B) €400

(C) 410 (D) 390

400 mangoes were purchased at
¥ 125 per hundred and were sold for
a profit of ¥100. The selling price

per dozen is
(A) ¥18 (B) ¥15

C) ¥16 (D) €20

A mixture of 40 litres of milk and
water contains 10% of water. How
much of water must be added to
make the water 20% in the new
mixture?

(A) 7 litres
(B) 6 litres
(C) 5 litres

(D) 4 litres

ot
In the above figure, O is the centre

of the circle and OD1 AB. When
AB = 16cm, then the value of OA is

(A) 5cm B) 15 cm

(C) 10 cm (D) 8 cm

99.

100.

101.

102.

A 3% T T F© R A
1 37 4 W1 416 Bl -2

(A) 395 B (B) 400 B/

(C) 410 Bl (D) 390 B

o4fS W oY 125 B @ 4000 =N
¥ 100 B9 =ice SReES Rie s

2IfS e ST R 203
(A) 18 B (B) 15 5=
(C) 16 B (D) 20 B

74 8 eI 40 PG @@ feed 10%
T R | @ e R Fepg S I
e TRl weer SHfRaeT 20% 232

(A) 7 ®om
(B) 6 i@
() 5 fabm
(D) 4 foom

AB
Toicam @ 0 Tt re1 (7™ 9R OD,

AB-a3 T 73| 39 AB=16C1Lf,,
B4 OA-<F I T3

A) 5 A (B) 15 @R

(©) 10 @if. .(D) 8 ¢1f.

SPACE FOR ROUGH WORK / ¥ FIC&A &= SRS
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103. In the given figure, if AB||CD || EF, | 103. 27s f5ca 3 AB||CD| EF =/, &
then the measure of ZCEF is ZCEF «3 =fame 33
A9 E A——5gB
302 -~ F
C &
(A) 210° @) 210°
(B) 140° B) 140°
(C) 70° ©) 70°
(D) None of the above (D) T e
104. A 104. A
C C
In the above figure, O is the centre of Ttz @ o0 = q@ﬁ,‘q &% M
e d e ——— LAOB =110° &% LAOC <35 eI
is a rlgl.‘lt angle, then the measure o =W, 5@ LBAC @ R 2
£ZBAC is
A) 100° (B) 90° (A) 100° (B) 90°
©) 85° (D) 80° (C) 85° (D) 80°
105. In a quadrilateral PORS, if ZP =60° | 105. PORS ggcs I LP=60"° W @R
and ZQ :ZR:4S=2:3:7, then £S LQ:4R:£S=2:3:7TW, O LS W
is T4 23
(A) 175° (B) 135° (A) 175° (B) 135°
(C) 150° (D) 120° (C) 150° (D) 120°
SPACE FOR ROUGH WORK / 9% J(HI &« GEM
II/4-A 22
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106. If V be the volume and S be the | 106. axbxc VAR (I TSI SRS
surface area of a cuboid with GR PO CFAFA IS V &R S
dimensions ax b x ¢, then which of 3F A @ 3797 2
the following is true?

1 Zr1. 1.1
1 _2(1 11 (A) —=-—(—+—+—)
R — =] =g~ Vv
()VS(abc) o N
i, 2 B L2t
B) - =3latb+q (B) 3 =3latbtd
PeHF (T P 1 T ) N |
B i e GPPRe SE e g2
(_) S V[a b c) © S V(a+b‘+c)
(D) None of the above (D) %m mﬁi;ﬁl
107. A spherical balloon was deflated till S
its radius was reduced to one-third 107. <3 ¢ o G Y b T TF I
of original. If its volume becomes O TP AP F-pIE T
n times of its original volume, then M| TS A RS o ARG
the value of n is n B9 e, n 99 I 23
1 1 1 1
a) = Byl B =
® 5 B 5 @ 3 B
O = (D) 27 1
27 (C) 27 (D) 27
108. Twelve solid spheres of the same size
are made by melting a solid metallic 108. &3 4re e (orees \Eiﬁ 3P 2 AR
cylinder of base diameter 2 cm and qR Twel 16 LR 1 e sl
height 16 cm. The diameter of each seEeeR 126 Fies e teR F
| sphere is & 2ifSfb comerers At =@

(A) 4 cm A) 4 @M.
| (B) 2 cm (B) 2 @R
I
L (C) 3 cm (C) 3 @R
1 (D) 6 cm D) 6 IR

SPACE FOR ROUGH WORK / ¥ I(&I &1 SN
|
II/4-A 23 [ P.T.O.
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109. If the volume of a cube is | 109. I b TCFT WA 3J/3a® T 939
343a3 cubic unit, then the surface =¥, O3 TEA SR CHATA A
area of the cube is (A) 6a2 3o
A) 6a2 it
(A) 6a* square uni B) 3a2 3
(B) v3a? square unit 5
5 (C) 18v3a? 3 433
(C) 18V3a? square unit ,
5 . (D) 18a* 3o ¥
(D) 18a“ square unit
110. 8 ¢ amdRFE @ IS 9IH
110. The area of the square that can be ﬁ R —
inscribed in a circle of radius 8 cm is :@ ™ R
A) 128 cm?
i EEs ook (A) 128 3+ GIRR.
2
(B) 256 cm (B) 256 3 IR
(C) 64v2 cm? (C) 6442 3o G
(D) 64 cm? D) 643 R
111. For the given data 111. 278 oY
-1,0,1,2,3,5,5,6,8,10,11 -1,0,1,2,3,5,5,6,8,10,11
which one of the following is true? 93 (G AN (PG 7S ?
(A) Mean = Median = Mode (A) TS = TYF] = SRYIGF T
(B) Mean = Mode (B) TS = SRANGEF T
(C) Median = Mode (C) WAl = SRYIBF T+
(D) None of the above (D) Tocaa @R T
112. If the average consumption of petrol & o o
for 5 months for a car is 96 litres 113. PR S ‘sm::j "IKE 96 A A
and that of next 7 months is CFF W W GR TR 7 WA TS
120 litres, then monthly average 120 B6R A o ¥ e, SMeia
consumption is ST MO G 4 |
(A) 105 litres (A) 105 o=
(B) 100 litres (B) 100 5@
(C) 110 litres (C) 110 @
(D) 120 litres (D) 120 fER
SPACE FOR ROUGH WORK / I FI(&I & |EM
II / 4-A 24
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113. If y is the mean of xi, xg, -, X, | 113. M x;, x5, -, x,, 97 5TC VA y W, <@

then the value of (1 =Y+ (Xo —Y)+ - +(x, —y) @ TN
(a1 =Y+ (x2 —Y+ - +(xn -y RS
is @A) 1
(B) 0 (C) 10
=l e (D) ToEaR (IR
(D) None of the above
114. ffRe e
114, The range of the following data 6, 14, 20, 16, 6, 5, 4, 18, 25,
6, 14, 20; 16, 6, 5, 4, 18, 25, 15 @R 5
o (UG 21 2PICTR T &R
is
A 21 B) 4
A) 21 (B) 4
(C) 25 (D) 20
{C) 25 (D) 20

115. ‘sfdesc @A Rowa oo sfiew

115. The mathematician who is known as

‘prince of mathematicians’ is K .
(A) Laplace (A) e
(B) Hardy B) =’
(C) Gauss (C) e
(D) None of them (D) ©CRA (T2 T
116. Which work is not related with a | 116 e Mevx 1w Ralb Precsa sies
teacher while teaching? SRS T 7
(A) Planning (A) s
(B) Teaching (B) Tersmr
(C) Guidance (C) Tt
(D) Budgeting (D) =R “iffema e

SPACE FOR ROUGH WORK / q¥ JI&I =) SN
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117. TLM is the short form of

(A) Total Learning Method

117. TLM q5a @D AP A9 2

(A) Sfas 4= */&f® (Total Learning

Method)
(B) Teaching-Learning Materials
(B) Pre-fest  TAMM  (Teaching-
(C) Teaching-Learning Models Learning Materials)
(D) None of the above (C) Frsa-fsm  weA  (Teaching-
Learning Models)
118. Mathematics is the science of (D) Tocaa @mibE T
i) ‘apaae 118. e a7 3 REr 17 wEEe w2
(B) number (A) CcFq
(C) calculation (B) w24
(D) All of the above (C) sate=n
(D) Ta7
119. With which of the following subjects,
Mathematics is highly correlated? 119. Sisa Rensfm ww @Fb sficed 5
(A) Chemistry T RIS 2
(B) Botany i S
, (B) Tfewfaw
(C) Physics
(C) =meffwm
(D) Zoology
(D) 2ifm
120. In deductive method, a teacher 120. 1B omfers G SrFad SIPR
should proceed from
297 Tfoe
(A) abstract to concrete (A) ﬁ‘{é (A W Fra
(B) example to formula (B) m (AT wﬁﬁ
(C) particular to general () Rom e s e
(D) None of the above (D) T @FbE T
SPACE FOR ROUGH WORK / q%F (&9 &= SRS
II/4-A 26
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121. Where does the process of digestion | 121. AR (P SRR AW <R =g 23 2
of food start in human? (A) e
(A) Stomach (B) TR
(B) Oesophagus
_ (C) Rl
(C) Buccal cavity DI %
(D) None of the above (D) N =
122. The organism feeding on dead and L2 g tﬂ;:m (o e I IeF @
decaying organic matter is ’ i
(A) mushroom (A) ST
(B) yeast (B) %
(C) mucor (C) e
. (D) All of the above (D) T SRFH3
123. Saccharomyces cerevisiae is [ 123. 1 o%e W Sacchdromyces
employed in the production of cerevisiae IS T T TF
(A) bread @A) siew
(C) Both (A) and (B)
(C) (A) @ (B) qibe
(D) None of the above
(D) TR @2 T
124. —— types of mosquitoes are the
chief vector of Japanese encephalitis | 124. SRHCS Al GTCICFARDA AT SR1E
virus in India. A4 IZF —— TOIT T |
(A) Culex A) Sy
(B) Anopheles (B) STcATRRfem
(C) Aedes (C) ,ﬂﬁy[
(D) None of the above (D) o rfeE
A48, X?(;Sl a;e przslent iz 125. WBC Toif¥s e
ood and lymp
% _ , (A) T @ PR -
(B) blood and general tissue fluid
(C) blood, lymph and general tissue (B} 3% 3 TR AT
fluid (C) T, BRI S AR FARCT
(D) None of the above (D) o (FMbE W
SPACE FOR ROUGH WORK / T JC&9 G YN
II/4-A 27 [ P.T.O.
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126. Primary vascular tissues are | 126. o2fis wferer 1 (2R =
produced by the (A) N (AT
A t
EB)) pro Odjm’ . (B) i e 3l (AT
ounda meristem
gr . (C) CERNIE (T
(C) procambium "
(D) None of the above (D) TR o2
127. The value of biodiversity falls into | 127- SRR T 1 Fewco! +fcv o =
the categories of (A) S, e @ arE wLafee
(A) aesthetic, ethical and indirect (B) 2[OP$ @ AT BT, AWEE 6
economic GICR ’
(B) direct and indirect economic, foarf
aesthetic and ethical () 2RorE6 TR e
(C) direct and indirect economic (D) ©°RA 3 02 T8
(D) None of the above 128. 315 FBEHE SofErs % (&1 mrF
128. The total organic matter present in RIS
an ecosystem is called (A) ATIE
(A) biomass (B) I
(B) biome ©) &om
(C) litter
D) oA (iR W
(D) None of the above ()
129. Pathogen that destroyed rice crop in 129. 1943 _@m“ A 11\::5 7 ng
Bengal during Bengal-Famine (1943) QIS GRITA &7 A1 MRS WA 1
is zfed, G 2
(A) Phytophthora infestans (A) Phytophthora infestans
(B) Helminthosporium oryzae (B) Helminthosporium oryzae
' (C) Puccinia graminis tritici (C) Puccinia graminis tritici
(D) None of the above (D) TR @02 T
130. Whicb of the following is a group of | 30, R @R <RE T 21 2
Kharif crops?
(A) Paddy and millets iy RS R
(B) Millets and wheat (B) CER S W
(C) Wheat and soya bean (C) o 8 TR
(D) Soya bean and barley (D) R ¢ el
SPACE FOR ROUGH WORK / 9% JI(&H & k|
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131. Accumulation of non-biodegradable | 131. MrRECaR ofefs Twed §fFe TR (3
pesticide in the food chain in o POAMCR IFacd ICE
incregsing axflount at each higher (A) STGRCFI
trophic level is known as
(A) eutrophication (B) (I
(B) biopollution (C) teRRadA
(C) biomagnification (D) ol (B2 T
(D)“Nene of the above 132. 3 Coa e @ I TR o

132. One biodegradable and one non- ol 29 IAFH
biodegradable product respectively A) .. ar R,
amDDD - (B) % @1 =i

D .
:g)) bone zd polythene (© S
00 sl aed, glaes (D) T @ ..
(D) coal and DDT 133. °FA (Pa)-<q & 23

133. Pascal (Pa) is defined as (A) fA%6 (N) x m
(A) newton (N) x m (B) f®54 (N)/m?

(B) newton (N)/m? (C) ffesa (N) x m?
(C) newton (N) x m? (D) m?/f%6 (N)

2
oy e (i) 134. SPNIEN &CA 100 K =

134. In temperature scale, 100 K = (A) —279-67 °F
(8) 27967 °F (B) 37315 °C
B aIoHs = (©) -37315°C
(C) -373:15°C (D) 212 °F
(D) 212 °F

P : 135. s (80 cm® R °Rf@) AT

135. Noise limit for two-wheeler (displace-
ment up to 80 cm3) at manufacture THGH Brges 1S XTI [2003 S (ACT]
stage [from the year 2003] is h
(A) up to 75 dB (&) 75 dB “ff3
(B) up to 77 dB (B) 77 dB 3
(C) up to 80 dB (C) 80 dB “3
(D) up to 83 dB (D) 83 dB *I¥%

SPACE FOR ROUGH WORK / q% JET &= T4
I1/4-A 29 [ P.T.O.
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136. By convention, the charge on a glass | 136. #b5fr® 219 Tﬂ}'ﬂﬁl fre iy Svecs T
rod that has been rubbed with silk is FACE JICE (T Y Teofg 2 o] 29
(A) positive (A) 9D
Eg)) :;t er ?ots;twebor negative (C) T WA T
one of the above
(D) Tofeaa bR T
137. Which of the following correctl
o % 7| 137. FatReehn wa @b wam (0),
presents the relation among
charge (Q), potential difference (V) o3 2w (V) G FoIR (W)-<7 AT
and work done (W)? o 7
(A) V=WxQ (A) V=WxQ
(B) V=0/W (B) V=Q/W
= C) Vv=w/Q
€ V=w/Q ( .
(D) None of the above (D) s =
138. —— is located behind a convex | 1o — S Tl Prefice a3
mirror. (A) GFfH I
(A) A ray (B) @ Ry
(B) The focal point (C) 3ITF afelg
(C) A real image (D) 3B
(D) The object
) ’ 139. 1986 oK 8% W FfEw Lawcs 4RA
139. Halley’s comet was last seen on (T O 79 ERE | GROR URE @I
8th March, 1986 from the earth. AE O ojfﬁ%’[ (AF Al TR A
P;fﬁcFEd. niit appearance from the SREEE 91 2R 2
e is in the year () 2060
) 20h0 (B) 2061
B) 2061
EC; i (C) 2062
D) ToEH (MR W
(D) None of the above ()
140. @ w9 RfeR @7 ¢ W Teom =
140. The oxidation reaction which e o
produces heat and light is
(A) endothermic reaction (A) SR R
(B) photochemical reaction (B) SARRAPTRfAE i
(C) combustion reaction (C) w1 R
(D) exothermic reaction (D) wrercat fRfdwm
SPACE FOR ROUGH WORK / AF FN&H & W4l
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141. Which of the following reactions will | 141. fEfReslm o = [t = @2
?
not ‘take place] (A) Zn+FeSO4 — ZnSO, + Fe
(A) Zn+FeSO4 — ZnS0O4 +Fe Bl OKI+Cl b
(B) 2KI+Cly — 2KCl+1, (B, &ls g —+2RClE ]
(C) Zn+MgSO4 — ZnSO4 + Mg (C) Zn+MgSO4 = ZnS04+Mg
(D) Mg+ CuSO4 — MgSO,4 +Cu (D) Mg+CuSO4 — MgS0O4+Cu
142. Which of the following statements is | 142. fEFR®aRR W @ [3fefs =mrer 2
incorrect? n -
(A) Acids have pH less than 7 (&) | pH 7S
(B) Alkalis conduct electricity in (B) A T TS SRR
aqueous solution (C) wce TRuBesR H e o
C . . + .
(C) Hydracids give H 1.on in water (D) 1 H 3G 45T 1
(D) Bases never contain H
143. Who proposed ionic theory of acids 143. W 6 WO AHAN SCGH LTETIRA (3 2
and bases? (A) SCEES
(A) Arrhenius (B) FTHT
(B) Brensted :
(C) Lewis ©)
(D) Lowry (D) =e3
144, Buckminsterfullerene is an example | 144, mﬁq@ IR —— T T |
of of carbon.
; (A) GFb IR
(A) an isomer
(B) an isotope (B) b WRACIA
(C) an allotrope (C) @M AT
(D) a functional group (D) 93 FER T
145. From cotton to production of % .
bedsheet and from wax to | 145. TN (WF R DA TAMA R
production of light are (T AT TLATH 2
(A) both physical and chemical (A) TSR GFTIMY (ST ¢ AP
changes simultaneously o{fqade
(B) both physical changes (B) ey 5 o
(C) both chemical changes
(D) physical change and chemical (G PR g
change respectively (D) IUEFCE (SIS QA2 APRF /TS
SPACE FOR ROUGH WORK / ¥ FEGI &1 SEN
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146.

147.

148.

149.

150.

producing one
soft metal

Hard substance

non-metal and one

respectively are

(A) Cand Fe (B) S and Na

(C) T and Pb (D) C and Na

The aim and objective of education

of general science are

(A) increasing knowledge

(B) forming basis of career

(C) Both (A) and (B)

(D) None of the above

Models of scientific inquiry has the

main function

(A) to provide a descriptive account
of how scientific inquiry is
carried out in practice

(B) to provide an explanatory
account of why scientific inquiry
succeeds as well as it appears
to do in arriving at genuine
knowledge

(C) Both (A) and (B)

(D) None of the above

Pedagogic strategy is

(A) general instructional design

(B) design applied to a management
unit

(C) design applied to a corporate
unit

(D) None of the above

The objective of CCE type of

evaluation is to

(A) develop cognitive, psychomotor
and affective skills

help to memorize more study
material

help to develop skill to memorize

None of the above

(B)

(C)
(D)

146. *% MY TRl GFH WP ¢ 3o

147.

148.

TR 4T T4 INE
(A) C @& Fe
(C) 1 93 Pb

MR e Free 7 ¢ S 24
(A) IR 34

(B) 3w fof% erafe

(©) (A) = (B) 702

(D) ToFa (FFILE W

Remifes Spme TCeER 24F S
27
A) IR REEfefes SEpmTT e
1 A SR IS et qre
(B) Remfefes wwpmm @a 1, °F
R (ST @R AFS A
cheres i a2 1

(C) (A) € (B) T2
(D) Tz (P W

(B) S @32 Na
(D) C 4R Na

149. freme e 29

150.

(A) SR FrmzEs T

(B) 1 Tl IR G 4TS W
(C) N 7 Flo «(T o4 =
(D) Tofeaa (@II0R

CCE 4014 eV T 24

(A) EFPIEFE, psychomotor 8 (39~
@S TEer Tafe

(B) Sf&F NG S2CH YIE FACS R ¥
(C) Y¥E [ TFOR TaAferS AR Fl
(D) AR (@I0E 7T

SPACE FOR ROUGH WORK / 9% &d &« &R
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Candidates have to answer Question Nos. 91
to 150 Either from Part—IV (Mathematics
and Science) Or from Part—V (Social
Studies).

AAFITNCH 2P 7247 91 (AF 150 eI IS TR T
TSIV (offe @R Rem) (F FRATe9-V (STream)
CTF |

Directions : Answer the following questions
by selecting the correct option.

91. Which of the following is an inner
planet?
(A) Earth
(B) Jupiter
(C) Neptune
(D) None of the above

92. What is the time difference for every

1 minute longitudinal difference?
(A) 1 minute

(B) 4 minutes

(C) 4 seconds

(D) None of the above

93. Which discontinuity lies between

SIAL and SIMA?

(A) Gutenberg Discontinuity
(B) Conrad Discontinuity

(C) Mohorovicic Discontinuity
(D) None of the above:

94. Which of the following is an example

of extrusive igneous rock?
(A) Granite

(B) Basalt

(C) Marble

(D) None of the above

95. The raised portion between two

faults is known as
(A)
(B)
(C)
(D)

II/4-A

block mountain
volcanic mountain
rift valley

None of the above

PART—V / SI9—V
SOCIAL STUDIES / “=rsf<wi

Teg We |

91. B @AM GFH BT &2 2
(A) e

B) T

(C) 7P

(D) Toiaa (FICIDE T
ofs 1 R wfRwE 1R & AN
AL TS 2 ?

(A) 1 ff0

(B) 4 %

(C) 4 CTFS

(D) TocEa @E T

@ (SIAL) ¢ PR (SIMA) SRS

92.

93.

Tesa @ et sy R Serzae 2
(A) 25 |
(B) TG '
(C) =
(D) Toaa @bE ™

&7 WSl = Td T e
?%ﬁ%ﬂﬂﬁ@? e
(A) B oo
(B) SCaR “ife
(C) =B Torerpl

94,

95.
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96.

97.

98.

99.

According to which law, wind blows
towards right in northern
hemisphere?

(A) Buys Ballot’s law
(B) Newton’s law
(C) Ferrel's law

(D) None of the above

Sleet is a form of
(A) precipitation
(B) cyclone

(C) greenhouse gas

(D) None of the above

Some currents of which ocean is
controlled by the monsoon?

(A) Pacific Ocean
(B) Atlantic Ocean
(C) Antarctic Ocean

(D) None of the above

Which landform is produced by wind
erosion?

(A) Cirque
(B) Stack
(C) Zeugen

(D) None of the above

100. The underground road is called

II/4-A

(A) flyover
(B) expressway
(C) subway

(D) None of the above

34

96.

97.

98.

99.

100.

@ @ TP IR T o
TG (@@ 2AARS = 2

(A) A A 4
(B) EhcTa 34

(C) (AR @

(D) TR @ADL T

3% @ 2|

(A) TUTHA

(B) Yfre

(C) A==IT A

(D) THER (FICANOR T

e =12

(A) 2T TZPTIOY -

(B) =oabe F2PTISH

(C) =IroRhe F=PIeE
(D) Socaa TR &

mgﬁaﬁ@fﬁaﬂﬁw ER TG R
(8)
(B) YIS

(C) T
(D) ToaA (FICNbE

THGE RIS WA

(A) FiRESE

(B) GHCEISH

(C) RETH

(D) TCRA @IS ™
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101.

102.

103.

104.

1065.

II/4-A

Which is the highest peak of India?
(A) Godwin Austen

(B) Mt. Everest

(C) Sandakphu

(D) None of the above

Which of the following is related to
sustainable development?

(A) Resource conservation
(B) Misuse of resource
(C) Climate change

(D) None of the above

Takkal is used in which farming?
(A) Extensive farming

(B) Intensive farming

(C) Plantation farming

(D) None of the above

Which industry is flourished in the
Silicon Plateau of India?

(A) Iron and Steel Industry

(B) Cotton Textile Industry

(C) Information Technology
Industry

(D) None of the above

Which is a man-made disaster?
(A) Earthquake-induced disaster
(B) Cyclone-induced disaster

(C) Industrial disaster

(D) None of the above

35

101.

102.

103.

104.

105.

SIACSA A N (TG ?

(A) I SEHA

(B) WTT TSI

(C) g

(D) oA FICAMb2,
S, T S
(A) TR KT

(B) T=ICHa SRR

(©) werm ~fea

(D) TR @ICnfog

(P 29T BICY DT I TR 2 ?
(a) R PR

B) fRe R

() afwl R

(D) o CRIAITR W

S FCACE.?

(A) T2 8 T=e P

(B) i1 T e

(C) wufE s

(D) AR FICAMDE W

@ TP e wweefe 2
(&) Re=me Ry

(B) qReEe e

(C) Perwhre Rofa

(D) THCR (PICAMGL 7
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106. Which of the following metals was | 106. T5a (FF ol 2981 SoreMm @O
unknown to the people of Harappan 1% Seifafos fes 2
Civilization?

A) @8
(A) Bronze
(B) Iron SR
(C) Copper (€)=
(D) None of the above (D) BT (AR W

107. The language of the Aryans of India | 107. SRS WRTE o/l f&a
was (A) @efoe
(A) Celtik e B
(B) Persian
(C) Sanskrit S
(D) None of the above (D) BT AR T4

108. The Tripitak’ is the holy book of | 108. ‘PG’ +Ra ae
(A) Jains (A) C&eICE
(B) Buddhists (B) (rac@

(C) Ajivikas (C) &HRF
(D) None of the above (D) Tz @I T

109. gig:? ;Z::ugown as ‘Asoka the 109. ST SRS SO R, IR
(A) he was a great conqueror (A) foff w2m fReerer fecem
(B) he patronized Buddhism (B) o At ~premes feem
(C) he attempted to abolish war () fef@ Ta7d W 68 fegem
(D) None of the above (D) ToCaR @ICHS 77

110. g::fg Gupta Age, Aryabhatta was a 110. 3% 0o SRS fReer qee W
(A) politician (A) e
(B) sculptor (B) =T
(C) mathematician (C) sifteorzRm
(D) None of the above (D) To[ERA (FICAIDE T
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111.

112.

113.

114.

115.

II/4-A

The capital city of the Pallavas was
(A) Mahavalipuram

(B) Chennapattanam

(C) Kanchipuram

(D) None of the above

Who invaded India during the reign
of Iltutmish?

(A) Timurlong
(B) Chinghiz Khan
(C) Nadir Shah
(D) None of them

Who among the following Sultans
attempted to control prices?

(A) Balban

(B) Raziya

(C) Ala-ud-din Khalji
(D) None of them

The Buland Darwaza, a famous
Mughal architectural monument is
located in

(A) Agra Fort

(B) Red Fort

(C) Fathpur Sikri

(D) None of the above

In which language, Kabir wrote his
famous ‘Dohas’?

(A) Sanskrit

(B) Hindi

(C) Urdu

(D) None of the above

37

111.

112.

113.

114.

115.

o[0T AL e

(A) T=REAEY

(B) CBRIAGY

(C) TR

(D) To[CAR FICAMZ W

%@Wﬁmmq

(A) CogFER

(B) CofFE W

(C) =nfwz =2

(D) ToCAA (S 7

g ﬁg?jm Y & TIPED
(A) FEH

(B) wfem

(C) SIS w@T&l

(D) TCAA (T 7

e @@ Tere) e RS SaEs
(A) e wesf

(B) ¥ (FEM

(C) FeooR Fifece

(D) R @I T

PN SR Rre ‘o’ @R oEm
fercafeger 2

(A) F

(B) T

(C) Y

(D) T°RA @AM T
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116.

117.

118.

119.

120.

II/4-A

The first spark of the Mutiny of 1857
was noticed in

(A) Meerut

(B) Barrackpore

(C) Delhi

(D) None of the above

Gandhiji  organized  his  first

‘Satyagraha’ Movement in
Champaran District for the

(A) mill workers
(B) daily labourers
(C) indigo cultivators

(D) None of the above

“We shall do or die"—the famous
slogan of Gandhiji is associated with
the

(A) Non-Cooperation Movement
(B) Civil Disobedience Movement
(C) Quit India Movement

(D) None of the above

Where did the ‘Azad Hind Fauz’
hoist the tri-colour flag in India?

(A) Gauhati

(B) Shillong

(C) Kohima

(D) None of the above

‘Ker Puja’ is an important festival of
the

(A) tribals of Manipur

(B)
(©)
(D)

tribals of Mizoram
tribals of Tripura

None of the above
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116.

117.

118.

119.

120.

1857-9 WIRaned 229 e (rl
farcafea

(A) SRS

(B) IRCA

(C) F&ce |

(D) TEE (bR 7

TR (TR SR SR AN STeyierR’
e SRefFe FAfRTE

(A) PRAER JNFCR G0

(B) fraregens &

(C) TR &

(D) Toieaa reaig

“HMAl TR TS TR —STRER @3
Rmre canern

(A) PRI STTECR % I&

(B) S SFD WCHECT F T

(C) ©IFS RICY TR ACH TS

(D) TR @ICAIbE

TRCER (FIUE ‘wrem Bw IR cowm
eI TrerE Feafee ?

(A) M=

(B) TR

(C) A

(D) ©o[cRA (IR W

‘@ o’ @3l g TeR
(A) ez Tereierm

(B) frercT Tomiferm

(€) T Sorfec

(D) T (FICADE W




122.

123.

124,

I1/4-A

121. A system in which all work inside

the home is done by women of the
family is called

(A) division of labour

(B) gender inequality

(C) sexual division of labour

(D) None of the above

“Man is by nature a social animal.”
Who said this?

(A) Plato

(B) Auguste Comte

(C) Herbert Spencer

(D) None of them

Who proposed the Preamble before
the Drafting Committee of the
Constitution?

(A) Dr. B. R. Ambedkar

(B) K. M. Munshi

(C) Jawaharlal Nehru

(D) None of them

National Commission for Women
was created in the year

(A) 1990

(B) 1991

(C) 1992

(D) 1993

39

121. @ IRTE 02 NG IS AR I A

122.

123.

124,

T N =

(A) ¥ Rerm

(B) formere (aaw;

(C) Terstore = faerem

(D) ToCRA @AM 7

“Man is by nature a
animal.” &b 79 2

(A) CoTh

social

(B) HIE @S

(C) =TT >oFR

(D) TR (T =

SRrSA AR ww Al e
TR 2R (T Sorgrei weafecem 2
(A) © R R, ST

(B) . «¥.

(C) ST (T2

(D) oRaR &

TN fZe Fhirm 2o 2w
(A) 1990 c#
(B) 1991 it
(C) 1992 it#

(D) 1993 SiIca
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125.

126.

127.

128.

II/4-A

The Union Cabinet is responsible to
the

(A) Parliament
(B) Lok Sabha
(C) President

(D) None of the above

In case of death, resignation or
removal of Governor, who acts as
the Governor?

(A) The Chief Secretary
(B) The Chief Justice of High Court

(C) The Speaker
Assembly

of the State

(D) None of them

The Sixth Schedule for TTAADC was
approved by the Parliament on :
(A) 1st August, 1984

(B) 23rd August, 1984

(C) 1st July, 1985

(D) None of the above

In Indian Constitution the
Fundamental Rights under the
Articles 14, 15, 16, 17 and 18 are
based on the

(A) Principle of Equality
(B) Principle of Dignity
(C) Principle of Humanity

(D) None of the above

40

125.

126.

127.

128.

@EW FRCAG ARG AP
(A) “IEfTICDa IR

(B) AIRTSR IR

(C) AFASR PR

(D) TR (FICbE T

AR TP, “MSN% G WP W6
(3 AT WG “M1eT T ?

() IPI63

(B) 2ELFI6A 2am Romefe

(C) Rurrier wyrs

(D) TFA (@S 7

W wbE P faoE Teefe e

e (T R WA W I
SIS =

(A) 198, 1984

(B) 23 W98, 1984

(C) 1 AR, 1985

(D) TR (@FICLL T

sRew WRue FiPRm wfbed 14, 15,
16, 17 @ 18 Affe (Mfere wiRerafm
fefe == -

(A) e S

(B) TR TS

(C) FReR e

(D) Toicaa IR T
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129. The Election Commission of India
was established in accordance with
the Constitution on
(A) 26th January, 1950
(B) 25th January, 1950
(C) 26th January, 1948
(D) 15th August, 1950

130. In Indian election process, NOTA
means
(A) ‘None of the Administration’ vote
(B) ‘National Obligation to

Administration’ vote
(C) ‘None of the above’ vote
(D) All of the above
131. Right of Children to Free and
Compulsory Education Act, 2009
came into force on
(A) 1st April, 2011
(B) 1st April, 2010
(C) 1st April, 2009
(D) None of the above
132. What is the full form of MGNREGA?
(A) Maharani Gangubai National
Reconstruction Employment
Guarantee Act

(B) Mahadevi Gunabati National
Rural Employment Guarantee
Act

(C) Mahatma  Gandhi National
Rural Employment Generation
Act

(D) None of the above

II/4-A
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129.

130.

131.

132.

FRYFPTe oFm SR e SR
sifPe eafes

(A) 2601 SERI, 1950
(B) 25¢4 SIRl, 1950
(©) 2601 TR, 1948
(D) 15% =9P%, 1950

SHCed el afm NOTA Jeice
@R

(A) None of the Administration’

vote

(B) ‘National Obligation to

Administration’ vote
(C)
(D) R SFEbe

‘None of the above’ vote

Right of Children to Free and
Compulsory Education Act, 2009

PRI 2R

(A) 1 «f?@, 2011

(B) 1 «fe@, 2010
(C) 1 «fém, 2009
(D) TocaR @ICNE W

MGNREGA-<T =< Tl ==

(A) Maharani Gangubai National
Reconstruction Employment
Guarantee Act

(B) Mahadevi Gunabati National
Rural Employment Guarantee
Act

(C) Mahatma Gandhi  National
Rural Employment Generation
Act

(D) B AR T

[ P.T.O.
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133.

134.

135.

I1/4-A

National Commission for Minorities
(NCM) was set up on

(A) 17th May, 1993

(B) 17th May, 1998

(C) 17th January, 1950

(D) None of the above

The President of India empowered to

promulgate three kinds of
emergencies, which are as follows

Political
Financial

(A) National Emergency,
Emergency and
Emergency

(B) Cultural

Financial

National Emergency,
Emergency and
Emergency

(C) State

Rule)

National = Emergency,
Emergency (President’s
and Financial Emergency

(D) None of the above

What is the full form of SEZ?

(A) Special Educational Zeal

(B) Spatial Economic Zone

(C) Spiritual Education Zone

(D) Special Economic Zone

42

133.

134.

135.

National Commission for Minorities

(NCM) sifds zgafes

(A) 17 @1, 1993

(B) 17 ¥, 1998

(C) 17 &R, 1950

(D) Toaa @R W

TRTed AR @ o7 2R wa R R
TR FAR FAoR WA, Cief 2@

(A) SOH TFR TRE, WA HHA
TR (R AT TFR SE

(B) WM TIFR WIE, TFOF TRIR
TRY AR FASE THR 1"

(C) =rew THR T[W, AW TR
wRE (AP ) 9} SRS
¥4 53T

(D) ToiCaR IR 70

SEZ-3 7 w6 % 2

(A) Special Educational Zeal
(B) Spatial Economic Zone
(C) Spiritual Education Zone

(D) Special Economic Zone
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136. Social Studies belong to

137.

138.

139.

II/4-A

(A) Humanities faculty
(B) Science faculty
(C) Social Science facuity

(D) None of the above

“The school is a cooperative society,
a place where giving or taking of
cooperation is experienced by all.”
Who said this?

(A) John Dewey
(B) W. H. Ryburn
(C) J. B. Sears

(D) None of them

The full name of SCERT is
(A) State Council for Educational
Research and Training

(B) Scientific Educational Research
and Training Council

Senior Council for Educational
Research and Training

(©)

(D) None of the above

Delivery of a lecture in Social
Studies requires

(A) introduction

(B) development

(C) Both (A) and (B)

(D) None of the above

43

136. IERW S@sfe 34

137.

138.

139.

(A) e [RereR

(B) Rem Rersm

(C) “ERen [ersm

(D) ToicRR IR T

“foeE =@ e @I T S,
@A e RAMTOR U W -
R Wowel Ae w¢E AR @
JCACRA ?

A) = T

(B) g, «=p. faw

(C) c=. . Prrf

(D) TR (FC 7

1. 51, 2, 9. 6.-99 o W ==

(A) T BT T G R
SIS (G |

(B) ACCORFS qumE 6 S
G FIeRm

(C) T FreRE w1 e D I B
e Gfe
(D) T AR T

SIS R 218 A &) TR
(A) Torreml
(B) STe2PIRe
(©) (A) &% (B) TR
(D) TR @R
[ P.T.O.
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140. Learning outcome of Social Studies | 140. STrs FreR w9 2@
is

(A) 2P MR AR I
(A) relevant understanding growth :

B) WIR FICAITS
(B) knowledge structure growth (B) I

(C) Both (A) and (B) (C) (A) @=2 (B) Tew2

(D) None of the above (D) TocER FICOR T

141. Major role of the teacher of Social 141. el P oum I 2=
Studies is

(A) YRGB
(A) dispenser of information

(B) &M WE(AA FZRS 2
(B) facilitator of learning

(C) AIfe=s STyPTced e 1
(C) analyzer of social problems

D) Torad IR
(D) All of the above o)

142. Demonstration in Social Studies 142. SWERTR APER TR @RI =W

means showing how something is m frg frer

(A) to be done (A) =91 Tfoe

(B) not to be done (B) <9 TR

(C) Both (A) and (B) ©) (A) & (B) TSR
(D) None of the above (D) TG (R

II/4-A 44
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143,

144,

145.

146.

From a fieldwork in Social Studies
the pupils learn

A
B)

reality of the phenomenon

techniques of data collection, its
analysis, conclusion

[C) social behaviour of people

(D) All of the above

Which of the following statements is
incorrect?

{A] Social Science perpetuates the

values like equity, freedom,
justice, etc.

(B] Social Science encompasses
diverse aspects of society.

[C) Social Science cannot use
scientific methods of enquiry.

(D) Social Science deals with
peoples and their lives.

Classroom teaching in  Social

Science requires

(A) resourceful teacher

(B) transfer of learning

(C) active participation of the
students

(D) All of the above

Social Science teaching can be more
alive through

(A) citing real life examples followed

by discussion
(B)
©
(D)

through detailed explanation

taking tests in regular interval

classroom

II/4-A

maintaining discipline in the

45
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143. SWSROR G G0 (TG AT (WS

o
(A) TR IBRIFC

(B) O WRACER “faroefe, S [,
TopIgEE '

(C) WIICEA A& ST 41l
(D) ToeaR SRFAb2

144. fRfaRe seelr @@l w92

(A) SRR g, FEEel, TEReE
Tt Pt TenRe |

(B) “WERER R Rfen e
TS A SCAG FCA |

(C) SIEREM REFPrTe SP™F “afe
IRTA FACS A 1 |

(D) FERER IR ¢ R & R
Rl

AT SRS R R %

R

(A) TERA FAORS e

(B) TR swerem

(C) WARATHA FFq =2z

(D) oz TR

146. SWNSRECGE et S @R T 2o

MI[S]]

(A) IWA QR Tz e 8 ¢ e
SICASAIR 4

(B) e amma qarcw
(C) Trfie «fFr e T

(D) cfirs FEwEfee @@ AR
Riie
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147.

148.

149.

150.

I1/4-A

Failure of a student indicates
(A)
(B)

the student is inattentive

the student should take private
tution

the student should stop his
study

(©)

(D) None of the above

Which of the following should not
be a method in Social Science
teaching?

(A) Teacher should always
answers to the
herself/himself

Teacher should
collaborative learning

Teacher should encourage
students to suggest answers

give
questions

(B) adopt

(C)

(D) Teacher should relate the topic
with real life examples

In Social Science, the main objective
of teaching is

(A)
(B)

to make the students pass

to develop thinking power of the
students

(C) to develop competitive mentality

(D) to provide them good notes
School-based assessment is
primarily based on the principle that

(A) teachers of the school know
their learners’ capabilities better

than external examiners

students should at all costs get
high grades

schools are more efficient than
external bodies of examination

(B)

©

(D) None of the above

147. <35 Predin sgeartel ot @ @
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-| READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
et ot s 6 «fg :

1. Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.
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2. The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
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3. Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set will be provided.
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4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.
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5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.
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6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Offcials.
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v 7. No candidate, without special permission of the Centre Superintendent or Invigilator, should leave his/her
seat.
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] 8. Candidate will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
. taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
i Sheet to the Invigilator.
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9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and signed the Attendance Sheet twice. Cases where a candidate has not signed
the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and dealt with
as an unfair means case.
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10. Use of any type of calculating device is prohibited.
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11. The candidates are governed by all rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.
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12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
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13. On completion of the test the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away this Question Booklet with them.
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